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(b) The sum of three numbers is 2. If twice the second “ Your Roll No..ovrnennenn.
number is added to the sum of first and third, the
sum is 2. By adding second and third number to Sr. No. of Question Paper : 1846 F
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: ) Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt

4. (a) Given that in a right-angled triangle, the hypotenuse

is 17 and the sum of other two sides is 23. What of this question paper.

is the length of the base and altitude?
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A Soma @ A 23 B MUR 3R A & oaE @ 3.  Answer any two questions from question nos. 2 to 4.
27

4.

2. Question No. 1 is compulsory.

All questions carry equal marks.

(b) Formulate the equation of the line passing through £ iise of silealstors % ot allowed,

two points through ( 1, 2) and ( 3, 4).

A fd A BE T TR W F IO TR 6. Mention the Vedic Mathematics Sutra and Subsustra
(1,2) and ( 3, 4) used to solve the question.
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7. Answers may be written either in English or Hindi but

the same medium should be used throughout the

paper.
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1. Attempt any four of the following:
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(a) What is the Sammuccaye in the equation 9x + 9

= Tx + 72
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2X+9 _ 2x+7
2X+7 T 2x+9

(b) Solve for X:
(¢) Find x and y such that 5x = 4y + 20 and
10 x + 3y = 40

(d) Find the length of the perpendicular from (2, 3) to
y = 4x

(e)Solve for x : (x - 1) (x —2)=(x - 3) (x - 4)

1 3 -2
(a) Find the determinant of -3 0 1}
2 1

i1 3 —2
S
2 1 0

(b) Explain the concept to convert an isosceles triangle

equal in area to a given square.
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(a) Solve the system of equations x — 2y = 4. and

-3x + 5y =-7
FREON ) gUmelt B BA @ x — 2y = 4. and
3x+ 5y =-17
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